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Physics 102 Quiz=! Section #:
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Q1. A mansverse wave is propagating on the swing and is described by the following

equation: v=0.025sin 2.0x+ - 40 1), where v 2nd x are in meters and tis in
seconds

(a) What s the wave Spéed?
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Q2. A 120 cm length of sing has a Tincar denstty of $.2 g/m. It is stretched benween
twao fixed supports and is under a tension of 120 N. The string is oscillating in a
three-loop standing wave pattern. Calculate:

(a) the wavelength, and
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(b) the frequency of the traveling waves whose superposition gives this standing
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